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I, of course, agree that in the long run prices and money move

together; however, this does not imply that there is no room for mone-

tary and fiscal policy. Keeping the money supply growing at a constant

rate requires offsetting exogenous shocks to the money supply. Keeping

it growing at the same rate as real output, on the other hand, requires

offsetting monetary shocks -- shocks to the real economy and changes in

the real rate of growth of the economy. Hence, even a growth rule re-

quires the manipulation of monetary tools, and the use of some sort of

indicators of the growth rate of output and the money supply. But if

policy tools can be manipulated for the above-mentioned reasons, sub-

ject to substantial uncertainty, why can’t the tools be used when the

economy needs a bit of stimulation to get back on a full employment

path- It is easy to think of times when policy actions have been quite

successful (tnt r.redit_tightening times of 1966 and 1970) as well as

times when more monetary activism would have been quite successful (the

great depression).

In terms of fiscal policy, it is easy to build models that show

that fiscal policy should play an active role in stabilization policy

even when the model is characterized by parameter uncertainty, and total

crowding out (however crowding out is defined).

Dr Sprinkel sees as a primary cause of the current inflation the

large and growing federal deficits which have made the job of limiting

the growth of the money supply more difficult. While few would disagree

with this, agreement with some of the implications he draws from this

would be substantially less than unanimous. I know of no Keynesian

economists who consider deficits a “boon to mankind.” Rather, they see
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than the large government deficits. I believe there are other much more

plausible explanations for the low rate of investment. The most obvious

explanation is the substantial under-utilization of resources when the

economy is at less than full enployment and the lack of confidence in

the economy’s ability to use all its resources in the future. This

seems to me to call for stabilization policy, not argue against it.

Finally, Dr. Sprinkel believes that slower money growth to reduce

the rate of inflation is worth the adverse effects of slower growth in

output. Whether one a;.ees with this view or not will very much depend

upon the price in terms of output of reducing the inflation rate. In a

recent paper, surveying the results from a number of different macro-

econometric models, Arthur Okun found that, on average, the models yield

a one per cent per year reduction of the inflation rate for about ten

per cent loss in the annual GNP. This seems to be a very high price to

pay for reducing the rate of inflation a single percentage point. There

needs to be an elucidation and tabulation of the real costs of inflation

before we jump into a strong anti-inflation policy, What are the costs?

The small anti-inflation yield of contractionary policy explains

why the Carter Administration has turned to its current policy. Unwill-

ing to pay the price of harsh monetary and fiscal measures, the Presi-

dent has opted for a program with less adverse impact but also a low

probability of success.
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